L ¥ 3 ‘onwy’ yieg & qataerh O 2

(a)sTaR
(c) $efl7

2. Fafifea ¥ @ e wee B T § go-gerdl
e R, Tww= R

()
(b) figg
(c) witwg
(d) s

3. UCHH-TEHY Y5l 1 -1 3T 7
(a) 9% - S5

(c) 39 - 94

4. Fefafen § wF-w1 oo qess 782 -

(ay<
O

(b) 9 - uuf
(d) 7 - ©a

(b) 5
d) =

5. FeafoRea o deam o= 2

(a) g™
(c) A3

(b) g&

(d) ™

6. U H TH o1 af-Rede ¢

Oyt + =
(b) g + ™

(c)f%'-r_—_l\+3il‘(
(d) f + =

7. Fafaie ¥ ye v &

(o) e
(b) Teuyhiss

(c) Teuyfass
(d) Sreusfassa

10.

ke -
(,‘l} N e [lnL il 2T & = = =

:1.‘
4
|

Fefefes v= & Somds 5w 2
(a) <

(b) e

(o) Tegmm

(d) s&=

- =~ ~ ~ -~
T § Ha o3 359 S = =% =9

>~ L=
- s
~ —
Hal ey =1 S99 ST |
REE g
——— _~ e .-—u\
%) Bia; ST I === % 5 7
b 1
—— ks = - S — e —
E) S RIS 9w ) = SREIS T
‘\\- ~ =
[T &
] i N s, 3 \
T[) TIQAL =g w;-_\ s\‘\Q:- TR =T s
-I—'—--\ "
S |
ﬂ*_’;-n o --.‘--5—---—-'\‘ ———
EI) DU o Q\ JRF= e |



Y @ 128 16 % fu

Anfafigs T =) o ufgu e wem wen
12 8 16 ¥ 39 36 maiw % anun w1 O

T Sty arEsHE w1 R 3l w sk Rer w
e & | 319 W s areran B e 3 a5 of
%W B TH R H O R F w Qe I9h w0
2, T6% wrasR 78 favam 0 & g Yo oo o
IR T | 7Y 3@ WEA A 0 H TN FQ § Ry
I JEE GBI SnEwEhr 7@ B | g9 fre o) wmg
7 S g 6 T vl orer ww TE & ARk Sad
gfa Pt o foreame 7 e e @ B R wAR R
& WTH 6 2 | 89 T THRAT A0 & & 3 & w=6if%
A TrEe wE feEmEn g fied w5 e arfer o ag
TR | 3 B A Qs | Rl e f v
AR A P M At TR R |

12. ‘TER el ' W BT vE IEm wa §
(a) AEIEFAFER  (b) i Fsar &
(c) ®waT & (d) G

13. ‘fe ¥ mmwme § gt gawr o w1 @ frg T
¥ Ul TdaT 2 7

(a) B9 36 TSR A W91 %1 W@ FW &
T FEE IS IFETEaT T Bt

_BYTR ¥ FB oft w3 3k
(c) BT i FHell 1 Gt ITET T §

(d) w90 ST IrEvsHE 5 @ B 5w g
fomm = & W €

14. &9 A w1 f= o R e R & 7
(ayras 3 feam #i
(b) Freat i forgar )
(c) T

PCUX-2 -22

15,. ‘g o Y s e Y, W S i R

il wke w@ & #difh

(a) FEl Y e AEd §

(h)mﬁmﬁmmi

(ef wravs 3t faman gt e = wfie o
== T #

(d) &9 @ Fe 9 &

16. Tarn w1 IvgFA i R
(a) Tt SftaA
(b) fegran
(c) Fr=1 @@ faam

(s syl e # 5

17. Frefafas § & sfesd o= 78 2

(a) T=-UHEH
(b) FE==EITH
(c) TE™

(RERIERLY

18. it ) =1 o o s A gam 2

(a) 93 B) it
(c) At (d) Jmst

19. meRie = agE w= @
Jaf e (b) JTH
(c) e (d) 3=

20. mwm'm'mgaa@mhﬁa
_d) =m (b) usft

(d) wmar I

(c) 7@ (d) =g:
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21. Whatis appropriate meaning of the idiom

"Do not always pick holes’ ? Find out the

correct answer from following options.
() Keep quiet
Lb)/Pick up a quarrel
(¢) Dig holes
(d) Criticize
22,

Which of the following is the meaning of the

idiom ‘salt of the earth’ 9

(a) a useless person

l_ﬂ)ﬂ/a Very good and honest person
(©) adry person

@) a selfigh, person

(©) to, by

(d) than, in

PCUX-2 -2

24. Someone “strange or unusual in an amusing

way”, is known as
(a) Zany

(b) Zit

(c) Zombie

(d) Zap

Instruction for the Question Nos. 25 to 29.

Read the following passage carefully and answer the
following questions that follow :

Since modern industrial society is highly organized,

if there is a strike in a vita) industry, the whole
community suffers, [ am not arguing that, the right to
strike should be abolished. T am only arguing that, if
itis to be Preserved, it mugt be for reasons concerned
Wwith this particul ar Matter, and not an general prounds
of personal liberty. In g i ghly organized country there
are many activities which are important to everybody

25. Astrike is generally regarded as

) an act of indiscipline
(®) a pross violation of rules

(c) an undemocratic act

(d) an ¢xpression of individual freedom



26. According to the author which one of

27,

28.

the

following best express the industrial society ?

(a) In an industrial society the individual

members is not important

(b) In an industrial society power is

concentrated in the hands of few

(c) Industrial society is blind to the needs of

its members

(&) In an industrial society members are

dependent on each other

The author is of the opinion that
(a) all strikes are bad

Sb) strikes may be there in the interest of the
general good

(c) strikes should be suppressed by all

means

(d) strikes should always be encouraged

The phrase ‘this particular matter’ refers to
9)/ the suffering of the strikes
(b) the fact that industrial society is highly
organized
(c) the unity of strikers

(d) the interests of the factory owners

29.

30.

31

32,

PCUX-2 -22

[n the light of the passage, if there is a strike in

i i as
a soap factory, 1t may be viewed

(a) a serious matter
Ma thing not likely to happen
(c) not a serious matter

_SQJ 4 malter of deep concern

Point out the synonym of DILAPIDATED.
(a) ruined

(b) weak

(c) lowered down

(d) broken

Which of the following is wrongly spelt ?
&) absces

(b) accelerate

(c) accessory

(d) accede

Fillin the blank in the following sentence with

appropriate conjunction :

She must weep,

(a) because

Y or
y but

(d) and

she will die.
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33, Choose the odd one from the given options,

(0) G) 17
(b) L 28
() AZ27
Wyeer

3 Find ihe missing letter from

N |

D R
G| N ?

the following,

-

n

J

(a) X
(by W
() V
(dyu

35. Tour pairs of numbers are glven of which three

fre alike ang one g different, Find the ong
which |g differeny,

Y7, 108
(b) 9,243

(©) 11,363
(d) 5,75

36.  Which approach of decisiop making involves
solving g problem using traditionql means 7

(2) Quantitative approach
(b) Scientific approach

(¢) Creative approach

(:I) Routine approach

PCUX-2-22
33, fav nu foenit 4 4 fae DIELA
(n) GJ 17
(b) LP 28
(cy AZ 27
(dy ¢ng

3. Preferfea # @ e sy dafiu, |

1} G | N
DlJ R
G| N 9

(n) X

h) w

() V

() U

35, xiemnsif ¥ wire wpr foy a4 forrit it e 4
M uw g 4 REUR URGE GRTAT

(n) 7, 108
(b) 9,243
(¢) 11,363
(d) 5,75

36 Fola 3 'ﬁmwﬁnﬁn&tﬁmuﬂwm
mcbnum:nnhmmmﬁmt ?

(0) TTATERR Tanm

(b) AmP¥s Supm

(¢) ToRTeTeR S

(d) Prafvr 3qum



3i. P al_1d Qare in the ratio 5 : 6 and difference of
their squares is 99, The value of Pis

(a) 45
b7 15
(c) 22
(d) 18

38. The background signals, distortions and
distraction during communication are known as
(2) Feedback (b) Receiver
(c) Loudness @Nﬂise

39. Statement: Some rats are cas.
Some cats are dogs.
No dog is cow.
Conclusion :}No cow is cat.
JL Nodog is rat.
/]I{. Some cats are rats,
Choose correct option :
(2) only II znd I follow
(b) caly III follows

(oYL IL I follow

(d) cnly I znd 1T follow

20. Pemmeter of 2 trizngular field is 540 meter. The
o of its zms is 5 = 12 - 13. The area of this
teldis
(2) MN sg. met=r
@) B0 g meter
(Y970 sq. metr
(@D 930 sq meeer

37.

38.

39,

Prerd: 1. =8 T faech a8 8

I1. Y5 ST g1 TE 8 |
L. %o faftemt <3 3 |

T forerew #1 g .

(a) %t I I 9d &
(b) et 111 wét &

() LI I uét &

(d) Fa 1au1 11 adt 3

Qmﬁgwm@awmsmzﬂa%wm
gr,mafitmaqgrrmsz 12: 13 2 | 30 @ 7 S5re
18 7

(2) 9450 o Hhex

(b) 9320 o wfiex

(c) 9720 a7 Hiex

(d) 9560 T *frex



4,

42,

43,

a4,

Read the following statements and seleet the
vt sy,

Statewment 1 Qommunication is tmeversible.

Statement 2 Communieation is constant.

W0 Ouly Statement

238 e

(1) Both the statements | and 2 are true

(©) Neither of the statement is troe

Jd) Only Statenent 1 i true

Which one of the following is NOT g skill of
interpersonal interaction ?

() Empathy

(1) Courtesy

{(6) Ad ministrative power
(@) Positive (hinking

=18, M= 26 and COME =72, then v
ol GO is

(a) 40
(b) 72

alue

SgY 44
(d) 38

Ientily the missing term from the following
options for the given series,

AND, COF, IP'L, JQM,
(1) PRT
(b) ORR
(¢} ORS
(d) QRS

B WI=18,M=26w COME=72

p(‘ux'l --21
A Rl weal w e adowg
SRR
WA 1A awRadf @
W 2 AR R R |

S ® gy

() AT W 2wy R

(b) QA wE 1l 2wy
() 0 A W eyl R
() ¥ T | e R

2. PBafiea ¥ 2 sd3-m Th HadafRes yreshas
T = v Wvw i g
() vyl
(b) Rremn
(c) vemuhE widy
(1) TFEE Wi

2, @ GO
ERE S
(2) 40
) 72
(c)
@ 38

M R e ¥ fiv e R 82w
R TR i |

AND, COF, FiL, JQM,
() 'RT

(b) ORR

(©) ORS

(@) QRS

‘3‘
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45. Which of the following is NOT o hamier of
eflective communication ?

(1) Colour

(d) Noise

{(2) Language

(¢) Culture

46. 1f ‘GOLD’ is expressed as "HOME' in n code

word and ‘SONS’ is expressed as *TOOT" in

a code word, then ‘CORD' can be expressed

in code word as
(n) TOOS
(c) DOSE

(b) TONT
(d) TOPT

47. Which of the following is NOT characteristics
of problem situation ?

(a) Complexity of solution

(b) Organization of problem situation
(c) Similarity of the problem
_gd) Size of the problem

4S8. Which of the following is NOT a widely
recognised and nccepted style of interpersonal
communication ?

(a) Assertiveness
(b) Persuasion

() Manipulativeness
(d) Aggression

49. The LCM.of x* - yz, 2= 513 and
x> - xz)' - xyz + y“ is
(@) (x+y) (x=Y) 4y +2y)
b) (x+y) =y (7 +y +xy)
(¢) (x+y)(x- y)F (57 4y - xy)
(d) (x+y) (x~ o

9.

10.

49,

PCUXAD - 2),

15, Tafefiad 1 @ aa-t el e i sy

afl B 7
ORI My tn
(c) degfa (i)

afd {GOLID' &) e M il oMY iy yfsda
oy et B, wel PSONN ol o M it oot
A wefalt o st B, CORN® AL g W0 i
2 Pyl el fear s aebal @
(n) TOOS M) TONT
(¢) NOSTL () "TONY

il D @-a el thin il
(v wdi B ¢

() w6 et

() T ek gt

(0) T ) wrdr

() TOTEAT T SN

Palifeaa A O ada-a mefa g B e
1 A maar=vna o el el gl § 1

(n) gaam

(1) DR

(0) WELT

(¢l) dugadar

X -yt xt oyt et L kty Ly
R wmant

() (X y)(x ~y) x* y’ 1ay)

() (x4 y) (x - y)"(x"‘ 1 y" I AY)
(0) (X1 y)(x -y)"l (x” | y o ay)

(W) (x1 y)"! (x y)')

Ly
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50. Which option is/are to be followed ?

Statement : Money is a huge motivator.

Conclusion : 1. People get motivated only
when they expect to get some
money for doing or behaving

in a centain way.,

2. There are some factors
other than money which also

motivates people.
Codes :

(2) Only2 follows

by Both 1 and 2 follow
(©) Neither 1 nor 2 follows
(d) Only 1 follows

th
51. If13 August,2017isThursday,

then what day
of the week would be 271 A

ugust, 2023 7
(@) Friday

(b) Samrday

() Sunday

_(D Thursday

52. In decision making quality of choices are
influenced by

(a) Abstraction
&) Intelligence
¢y Perception
(d) Mental set

PCUX-2_ 9,
50. fora e w1 s Rt S /%
HUA : U T Agd 91 I |
ferd: 1. am it J7@ B 8 9 T8 v R
aﬂ%};ﬁmﬁmmﬂm%fm
FB o I A Iofig
2. W% s off Fo 0w E
<t = M ww E |
He
(2) Fa@ 2 IgEhe B 2
(b)avﬁlvﬁizaﬁafm@ﬂ%
(C)?ﬁl?@ZWﬁﬁﬁlﬁT%
(d)%ﬁalagsrha'am%

51 3} 13 s, 2017 =1 gerfiam 2

&, T 27 e,
2023 aﬁmmaﬂq~mﬁq@1n 7
(a) ThaR
(b) wiar
(OREC
(d) Fewafeam

52, ﬁméﬁﬁﬁwﬁﬁﬂwmﬁaﬁﬂ%
(a) g &
(b) e @
(c) St @
(d) TR g §
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53.

G

54.

55,

56.

The number of parallelograms in the adjoining

figure is
(a) 14 (b) 15
(c) 16 d) 13

In a secret code message ‘HOTEL' is coded as
300. What will be the code for ‘[10STRL 9
(a) 474 (b) 374

(c) 360 (d) 558

What is correct order of writing a press
relcase 7

1. What happened ?

2. Whodid it ?

3. Headline

4, When did it happen ?

Using the code given below, choose the
correct alternative.

(a) 3412
(cy3142

(b) 2314
(d) 1324

If under some rule 5341 is transformed to 4086
and 4772 is transformed to 5265, then 7614 will
be transformed to
(a) 6174
(c) 8645

(b) 7038
(d) 4238

11«

54.

53,

56.

PCUX-2-22

53, e i i WIER it 1 e 2

JAVAVAN

(a) 14 (b) 15

(c) 16 (d) 13

T T IS Tl A ‘HOTEL’ 1 300% ¥ H #ited
R <l & | ‘HOSTEL’ <1 ie F41 8 7

(a) 474 (b) 374

(c) 360 (d) 558

g forpfey fra Fwdl R TR 7
1. @1 g 7

2. 7 forem fomn 9

3. xfid

4, 7% FE A 7

2 R T G H1 S0 Fh wE AE
1 94 i |

(a) 3412
(¢)3142

(b) 2314
(d) 1324

afe foredt fram & afaria 5341, 4086 @ wiafaa

U1 4772, 5265 B uiafda a1 8, 7= 7614
sfafda am

(a) 6174
(c) 8645

(b) 7038
(d) 4238
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rAid
S7. Going SO0m 1o South of her house Radhika tumns
leftand gocs to another 20 m. Then, turing to
the Nonh, she goes 30 mand then start walking

to her house. In which direction is she walking
now ?

(a) North
(b) South-West
(c) East

Sd) North-West

38. If the radius of a sphere is increased by

2.cm, its surface areq is increased by 352 cm?

What is the radius of the sphere ? [71' = 2—}?}
(@) 7cm

®) 8 cm L®

o=

?;L/Ti‘

(¢) 4cm

<G em

39. Youare a Police Officer, your duty is assigned

at the State fajr. Which of the following
situation do you handle first ?

(@) A dumpster next to the main tent
pavallion is on fire

ﬂ The ferris wheel is stuck in midair with
people still on it

(¢c) A man obviousl y drunk has passed out
and lying by the ticket booth

(d) There is crowd forming around two
unarmed teenagers ongoing with arguments

X

PCUX.5 _ 2

57. ufiemn 3 9 A Em B AR 50 1 Tk
st At wgaw 20 . wFerdt 2 | I A o
gt 30 . Serdt & 3N R} I T A oy
w1t R 1 o =g frw o i s g
(a) 3T
(b) gfamr-afzam
() @

(d) Ie-ufzay

58. afe et wiret it Pre 2 h =g A w2, 5
IHh 953 F1 ke 352 A @ w2 |
EAREER R - (1:=%]
(a) 7 &rft
(b) 8 Bft
(c) 4 3t
(d) 6@t

59, A @ gferm afrsrt €, s o 19w 2w
e | s freiifen 3 2 v g whiRn
I EWTET 7

(@) T& T e & ot o ot w =

H 3 ot 3
Y=l e R S 43 2w swora

WYY T, T T

(c) R # o Y =R W i e
fag=h % am wer o

(d) & Frvre o5-Read = @ Reant %
-1 g QR

.12-
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60. Individuals receiving the message ask

themselves the basic question.

1:Is the person giving the message trustworthy
and sincere ?

I1 : Does the source know anything about the
subject ?

Using the codes given below choose the correct
alternative.

(a) Only Il is relevant
“(bﬁolh I and II are relevant

(c) Neither I nor II is relevant

(d) Only Iis relevant

61. Decision making occurs as a recreation to

(a) Mood

by Problem

(c) Communication

(d) Solution

12 15
62. Number of prime factors (_1_] w 8% x (2 J is
6 4

(a) 36
(b) 37
(c) 52
(d) 33

63. According to ‘rational decision making model’,
last stepis
(a) Selection of alternative
(b) Identification of alternative
(c) Evaluation of alternative

_(9/Selcction of the best alternative

PCUX-2 - 22

wﬁamﬁwm@?’%'

. FQ ard ,

G0 i

W%ﬂﬁﬁwm% 1

. 71 A
1 & ﬁ%ﬁmgﬁmmﬁ“ﬁﬁmmqﬂ

#ra feg ™
1 HFT ]
Goﬁmﬂmﬁmﬁ
(b)aﬁ[ﬁnméﬁﬂ?%
wﬁﬁlﬁﬁgumﬁﬁ%

(d) 9 ] STEfiTeR g

6L'Wﬁ@mﬂ%mﬁgﬂﬁ@m%

62. Hﬂ x 8% x(%)‘ 35 o TPTES B e R

(a) 36
(b) 37
(c) 52
(d) 33

63. v e o R 36 SR SR 0T R
(a) Toremeq =1 =2
(b) Trew &1 vg=H
(c) Fmea =1 qEA .
(d) TEtwH fase =1 =1
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. Ireia A gl ) g2
©3. Nammders of timgks in the following figure s | 64, fr=fifea 3 Bk

@2 ) 24
(@ 26 (d) 18

L

@ 22 (b) 24
©) 26 d 18

&S Fad&nﬁg&gmhdnm\dngm 65. ﬁqx"‘“%aﬁﬁaﬁa;—ﬂfaﬁum =
p A / .Y s 1/ 16/
73, /7% 1/1’-{1*1.531 7377 210 /31

"‘w“a,-:g.'.

6/
(",%, @ Y

5 s/
® 2o ® 2o
L9 /s

@ 7
@ 107

A RSz TS S TR SRS Fiesl s Bes
%mﬁmjdaum mﬁ?ﬁ{mﬁﬁum:.s
@) b:!r%mdogwe (CIRSSR e ity oo
m/hmmmwdm ®) =3 B e s
© lfmngrm@dogim ©) = g oy
d) tnrdmnnd;éedzm

) SR skwEng
67. In a kegier serjas

67. s SUH
a__tb L_,_btngm ‘J

a___bb__a___bba:n:___a,
&:emmngleuasmltemmﬂam W= igassl

(2) bbacchd (2) Bbacchb
7 ecacch (B ol

(c) besbcbd (€) beabebh

(d) chacchb (d) cheochd
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69.

70.

et Tl e

L

Rt bk e
e |
—

~ Which statement is NOT correct ?

. A person buys 4 horses and 9 cows forX 13,400.

1.

(a) Every thombus is a parallelogram,
(b) Every square is a rhombus,
(¢) Every thombus is a square.

(d) Every rectangle is a parallelogram.

What is the main characteristics of Delphi
Technique for group decision making ?

(a) Altemmative communication
(b) Written communication
(c¢) Verbal communication

}ﬂj Face-to-Face communication

The sum of deviations of a set of observations
Xps Xps eonmy X measured from 50 is =10 and
the sum of deviations from 46 is 70, then the
number of observations is

(a) 20
(b) 30
(c) 40
(d) 10

If he sells the horses at 10% profit and cows
at 20% profit, then he earns a total profit of
% 1,880. What is the cost of a cow ?

(a) T 600~
(b) T 900>
(c) 400

_(dy None of the above

-15-

70.

PCUX-2 - 22

68. m_mquﬁg 4

(@) 5 T T T T
(b)mﬂ@gqa§§'%|

(c)mm@jqﬁaﬁﬁl
(d)mmﬁmwa|

69. e fivfar <01 3o A A o v

R 7

(a) fored H

(b) s HC
ORUCEIEI

(d) -G FER

Jel F T Xy Xgy v X 50 ¥ fod @
Terererl =61 90 — 10 ® 3 46 F fore e fymemit
1A 70 B, O IF0 6 TS R

(a) 20

(®) 30

(c) 40

(d 10

7. TRRW4R G ITHI R I 13,400 % @liear

7 13R 77 9 B 10% v TR w 20%

AT R, T 6 ot o 21,8802 | v M
AT RTR ?

(a) T 600
(b) 900
(c) X400
(d) 3w R A 7
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72, Find the missing number from the following | 72, A=ffem faeul 1 @ FURUIR ?F.Tfiml
alternatives.
21 24 36
rll 24 36
i 11 14 12
11 14 12
3 ? 4
3 ? 4
77 112 108
| 77 ‘ 112 108
(a) 4 (b) 6 (a) 4 (b) 6
JORK (d) 2 (© 3 @) 2
73.

If131x + 217y = 827 and 217x + 131y =913,

73. =fe I31x 4217y = 827w 217x + 131y =9;3
then what gre values of x and y respectively 7

?ﬁx@y%mm:w% ?

(@) 2and 5 (a) 2wa s
(®) 5and 7 (b) 5w 7
(©) 3and2 (¢) 3w 2
_@) None of the above (d) ST & & d gy
74, The fifty letter of the Jeqter sequence 4. 3 g v, w, LB . . T qieat aof 3
Y.W.,T,p, . is
(@) L YK (@ L (b) K
(© 71 d) 1 (©J d) 1
75. A Ilf:ndency to fixate on initia] informationis | 75. Wi TR R f I e 2
called P ot
(a) Anchoring bias )
_byTonfirmatiog bias (®) T i
(c) Availability bias (€) STeTeyan e
(d) Overconfidence bias (d) S-srenfrEm Whug
76. Sisrelatedeland27isrelaredt0256inthe 76. 8,81% wyr 27 msﬁmmmﬁa%ﬁ
same way as 64 related to IER 64 Faftm 2
(a) 425 (b) 525 (a) 425 ®) 525
() 625 @ 225 (c) 625 @) 225
b

~16-



7.

78.

79.

31,

‘Do you like working 7° This question is an

example of

(a) Close question
(b) Positive question
(¢) Negative question

(d)"Open question

The process of listening consists of
(a) 5 stages (b) 6 stages
(c) 7 stages (d) 4 stages

Find median for the following data :

Class

Interval 0-20

20-30|30-40|40-50

Frequency | 42 25 58 40

(a) 36.6 (b) 32.67

(c) 34.56 (d) 385

If 12345671586 stands for TERMINATION,
which number does 671586 stand for ?

(a) RATION by NATION
(c) MOTION (d) NOTION

Which one of the following context refers to
the relationship between the sender and the
receiver 7

(a) Physical

(b) Social

(¢) Cultural

(d) Chronological

Tt

78.

79.

80.

81.

=1,
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() 98 WA

(b) FHTTEHD S

(c) THTHD L]

(d) Eeil WA
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(a) 5= (b) 63T

(c) 7= (d) 4=

frfefan stwsl + fou ot sma HifkA -
Ttete | 0-20 | 20-30|30-40 | 4050

IEN | 42 | 25 58 40

(a) 36.6 (b) 32.67

(c) 34.56 d) 385

afg 12345671586 =1 319k TERMINATION %,
W TE 671586 = 3} = B ¢

(a) RATION (b) NATION
(¢) MOTION (d) NOTION
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(a) Mo

(b) wmfsres
(c) Wrpfires
(d) Fremgsnite



82. Which of the following is NOT a stage of
creative process in decision making ?
(@) Preparation
By Tumination

(€) Identification of proposition
(d) Verification

8. x=l_ , then value of 4x° = 2x2 = 8x + 5 is
V3+1
(@) -1 (b) 0
(c) 2 (d) -2

84, '_The tendency to have more confidence in
Judgements and decisio

ns than we should, is
calle |
’/Wrgver confidence (b) Self-

confidence
(¢) Confidence (d) None of these

85. Ifthe compound interest on a sum for 2 years

at 12 %% Per annum is X 340, then the simple

Interest on the same sum at the same rate for
the same period of time is

(a) T 320 (b) ¥ 330
(c) ¥ 335 (d) T 310

86. Arrange the following words
in meaningful logical order.

1. Never
2. Sometimes
3. Generally

4, Seldom
5. Always

(a) 5,3,4,2,1 (b) 5,2,4,3,1

y/{,z.z.zl.l @ 5,2,1,3,4
B .
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i
g2, Profa ) if Psiféfaa if & @-ar v Iiiirﬁn'l_
wfa v Tl B 7
(n) dm
(b) wdlra
(c) werma €)Y TgaH
(d) weam=

83, af xu7§]'+—i'm A -2x - 8x 45

kel
(a) ~ 1 (b) 0
(c) 2 d) -2

|

84. st 1 s ared fankdt % o s
it smamam g, weara B *

(a) Afafrzarg (b) ArwfarE™
(c) Forzamg (d) =d @ it 7

85. If ww i w1 29 3 .2%%nraaﬁ4m

THgfe Y3402, @ 6 X A ww ofy
mm%mmmmﬁm 7
37320 (b) 330 =_

(c) X335 (d) X310

86. ﬁnﬁ—rﬁaamaéfa%aﬁ@mﬁmmﬂmﬁ
FiRr |

1. =t 38

2. wqfaa

3. 9MT=a:

4. ft-Tfi
5. wde

(2) 5,3,4,2,1

(b) 5,2,4,3,1
() 5,3,2,4, 1

(d) 5,2,1,3,4



e
. q?. " What pereentage of message is pereeiveqd
P °" non-verbally ?

@) 55% A1 50%

(c) 40% (d) 30%
qg. Which of the following is an Cxample of dress
¥ code communication ?

«4) Non-verbal (b) Written
i (c) Verbal (d) SpOan
i-89- Rajan is brother of Sachin and Manak is father
.~ of Rajan. Jagat is brother of Priya ang Priyais
? daughter of Sachin. Then who is the uncle of
f Jagat?
~ (a) Manak (b) Rajan

(c) Sachin (d) None of these

. What type of communication is 3 press

. Which of the following is NOT a feature of

. A circle touches all four sides of a quadrilateral

release ?
(a) Intrapersonal
(c) Interpersonal

(b)-Public
(d) None of these

group decision making ?

(2) Active interaction between group
members

(b) Consensus among all the members
_{c) One head is better than two
(d) Joint responsibility for the decision

ABCD whose sides are AB =8 cm, CD =9 ¢cm
and BC =7 ¢cm. The length of side AD (in cm) is

(a) 10 (b) 11

87.

88.

89.

90.

il

(c) 12 (d) 8

-19-

92.
B = HEE TG I e
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trrq wanfeh ®9 8 JeEEa

e &1 FRel
P STl & 7
(a) §5% (b) 50%
(c) 40% (d) 30%

ﬁqﬁf@ﬁﬁﬁmh—m@@mmm
TEW 2 7

fir
ghm w1 Wi § S AEE, T H
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S 1 9 B R 7

(a) TS _(by T
(c) whF (d) T & =d T

3 ey frg Yo ST EER R 7
(a) S (b) FEAHS
(c) sFadafaaes (d) =8 ¥ =18 9

Fefafes 3 § ¥F-m @ g foln §1 =
foshea =i 2 2

(a) 998 % WS % €9 |y =t
(b) T et & i wEmly (vaw)

(c) T T 9 Fgaw 2

(d) Fofa % T wgea R

@ﬂﬁ,agﬁammﬁmﬂaugmﬁqa
YS1E AB = 8 4,

CD=9%f 3Rk BC =73 ¥ | w1 AD
T (e ) 3 b

(2) 10
() 12

(b) 11
(d) 8
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93.  Which communication has an emotional
appeal ?
‘(a)/lntcrpcrsonnl communication
(b) Group communication
(c) Intrapersonal communication
(d) Mass communication

94. Complete the sequence with the correct option

from the following alternatives.

HOTEL:12::FILM:?

(a) 14 (b) 16
(c) 18 (910
95. The median of the first 10 prime numbers is
_9)/12.0 (b) 13.5
(c) 12.9 (d) 11.0

96. Which of the following is NOT related with
the characteristics of problem solver ?
(a) Set variables
(b) Past experience and practice
(c) Generality of solution steps
(d) Motivational factors -

97. 25 letters of English alphabet are arranged
below :

vV C F U M
P O X S H
J Z A I E
B L D K Q
N WG T Y

If all the letters were to be arranged
alphabetically, which letter would NOT change
its position ?

(a) W
()

(b) X
d U

93.

94,

5

96.

97.

220.

PCUX-2-22

fapg wam i U WrEATenS e 2 7
(a) radafads AN

(b) TR HER
(c) afa:dafFas d=n
(d) 97 §9R

Preferfan Rreredi 3 @ et e g0 Sf@en H
Tt Hifdrg |

HOTEL: 12;:FILM:?

(a) 14 (b) 16

(c) 18 d 10

A 10 IS HEEIAl Y mierm @
(a) 12.0 (b) 13.5
(c) 12.9 (d) 11.0

Frafefe 3 @ Fv-w & wren T =
Tt Y RedwarsT & defm i 2 ¢

(a) fo=rmm =x

(b) T 13w 3R s

(c) |uHm ¥ vgi Y g

(d) Ifnrom s
MW%ZSHU‘?%W@H%:
V C F U M

P O X S H

J Z A I E

B L D K Q

N W G T Y

I T Ut 1 SuiETE % FTER SRR e

S, 1 form ot <t feufa i wreerfi 7
@ W (b) X
©Y (d) U



98. Find the missing number.

(a) 19
(b) 20
(c) 21
(d) 18

99. From lhe followmg equations x? + y =41

and x* — y =369 the value of x and y will be
respectively

_yF4,+5

(b) +£4,%3

(©) £3,+4 )
(d) £5,+4

100. Which one of the following valid conclusion
can be derived from the following premises ?

Premises : 1. All scientists are graduates,

2. No supervisors are graduates.

Conclusion :
(a) All graduates are scientists
(b) All supervisors are scientists

(c) No graduates are supervisors

@/No supervisors are scientists

99, f=ffaa adfiwon x2+y2=41@i x4—y

100.

PCUX-2 -22

(a) 19
(b) 20
() 21
() 18

4 =369
# x T y 1 qH HEN: B

(a) £4,+5

(b) £4,£3

(c) £3,+4

(d) £5,+4 b
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